Name __________________________________
Drill #2—Math 118—Summer 2007

Consider the following preference schedule for an election for President of the Greek Club.  The candidates are designated by the Greek letters alpha (A), beta (B), gamma (Γ) and delta(Δ).

	#voters
	10
	6
	5
	4
	2

	1st place
	A
	B
	B
	Γ
	Δ

	2nd place
	Γ
	Δ
	Γ
	A
	Γ

	3rd place 
	B
	Γ
	A
	Δ
	B

	4th place
	Δ
	A
	Δ
	B
	A


1. Who is the winner of this election under the Plurality with Elimination Method?

2.  Who is the winner of this election under the Pairwise Comparison Method?

3. Using the Plurality with Elimination Method as our standard, does this election violate the Majority Criterion?  Why or why not?  Does this election violate the Condorcet criterion?  Why or why not?
4.  According to the preference schedule, who would be Vice President, Treasurer and Secretary using the extended Plurality with Elimination Method?

5. Who would be VP, Treasurer and Secretary using the recursive Plurality with Elimination Method?

6. Suppose that Γ dropped out of the race.  Does this election violate the Monotonicty Criterion or the Independence-of-Irrelevant-Alternatives Criterion?  Why or why not?

7. What is Arrow’s Impossibility Theorem?

